
5/14/11 

1 

Ogge), +pi e so0o+po 

Uso dei +pi (sta+co) 

•  Tipi come u+le meccanismo per avere delle 
buone garanzie di uso corre0o 
– 3.m() 
–  if (3) { return 1; } else { return 2; }   
– 3 + true 

•  Le espressioni hanno un +po 
– 3+4 ha +po int 
– “A”.ToLowerCase ha +po string 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Tipi 

•  In quali casi x.m() (oppure x+3) e’ corre0a? 
– Dipende dal +po della variabile x 
– Questo e’ il mo+vo per cui esistono le 
dichiarazioni 

•  Restrizioni di +po 
– X= 3 (assegnamento richiede +pi compa+bili) 
– Obj.m(3) la chiamata del metodo richiede +pi 
compa+bili 

•  Java, ML valori hanno +pi mul+pli 

So0o+po 
•  DEF: Il +po A e’ un so0o+po del +po B se A puo’ 
fare tu0o quello che puo’ fare B. B viene anche 
de0o super+po di A 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Una variabile dichiarata di +po A puo’ memorizzare un qualunque ogge0o che ha 
un so0o+po di A 

Metodi con parametri di +po A devono essere invoca+ con argomen+ che sono 
so0o+pi di A 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Sta+c vs dynamic 
•  Il +po sta+co di una espressione descrive 
quello che si conosce dell’espressione a tempo 
di compilazione 
– Area X 

•  Il +po dinamico di un ogge0o descrive la 
classe associata all’ogge0o a tempo di 
esecuzione 
– X = new Circle(2,3) 

•  Ocaml: sta+c types 
•  Java dynamic classes (ma il +po dinamico e’ 
sempre un so0o+po di quello sta+co) 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Shape e’ un so0o+po di Displaceable e Area 

Circle e’ un so0o+po di Shape (e di Area?) 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Metodo Costru0ore 

Cosa succede al metodo costru0ore quando avviene l’ereditarieta’? 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